

Multiplication par 10^{-3} (E)

Trouvez chaque produit.

$$78 \times 10^{-3} =$$

$$51 \times 10^{-3} =$$

$$44 \times 10^{-3} =$$

$$56 \times 10^{-3} =$$

$$92 \times 10^{-3} =$$

$$40 \times 10^{-3} =$$

$$9 \times 10^{-3} =$$

$$63 \times 10^{-3} =$$

$$26 \times 10^{-3} =$$

$$93 \times 10^{-3} =$$

$$37 \times 10^{-3} =$$

$$88 \times 10^{-3} =$$

$$58 \times 10^{-3} =$$

$$84 \times 10^{-3} =$$

$$82 \times 10^{-3} =$$

$$23 \times 10^{-3} =$$

$$69 \times 10^{-3} =$$

$$88 \times 10^{-3} =$$

$$2 \times 10^{-3} =$$

$$37 \times 10^{-3} =$$